



$$\int_0^1 \int_0^1 \dots \int_0^1 (t_1 \dots t_n)^{x-1} ((1-t_1) \dots (1-t_n))^{y-1} \delta(t_1, \dots, t_n) dt_1 \dots dt_n$$

$$= \left( \frac{1}{2} \sin \pi x \sin \pi y \right)^n \dots$$

remarks on coeffs. & boundary cases.

### Applications

own in 1941 used to determine a linear combination of

$$\sum_{h=1}^n \sum_{m=0}^M \frac{q_m^h}{(z-m)^h}$$

max small on some circle

with radius  $R = \frac{R_0}{c}$  (with  $c$  somewhat larger than  $M$ .)

$z_m$  diff.

Bombieri in connection with

Stekhecheff's.

5.

one is led to correct formulation

let  $P_2$  run over all quadratic polynomials  
 $x^2 + ax + b \pmod{p}$   $D(P) = \text{discriminant.}$

$$\sum_{P_2(p)} \chi_1(P(0)) \chi_2(P(1)) \chi_3(D(P_2))$$

conjecture for general  $n$

$$P_n(x) = x^n + a_1 x^{n-1} + \dots + a_n$$

$$\sum_{P_n \pmod{p}} \chi_1((-1)^n P_n(0)) \chi_2(P_n(1)) \chi_3(D(P_n))$$

$$= \prod_{i=1}^n \frac{\zeta(\chi_3^v)}{\zeta(\chi_3)} \frac{\zeta(\chi_1 \chi_3^{r-v}) \zeta(\chi_2 \chi_3^{r-v})}{\zeta(\chi_1 \chi_2 \chi_3^{n+r-2})}$$

certain exceptions.

$$\chi_1 \chi_2 \chi_3^{n+r-2} \neq 0$$

Cannot prove at present for  $n > 2$ .

Similarly, analog of (4) and 5 can be written out. (no limit procedure is known)

$$\sum \chi_1(h_1, h_2) \varepsilon^{h_1+h_2} \chi_3^2(h_1-h_2)$$

the better analog.

$$\text{or } \sum \chi_1(P_2(0)) \varepsilon^{P_2'(0)} \chi_3(D(P_2))$$

generally

$$\sum \chi_1((-1)^n P_n(0)) \varepsilon^{\frac{1}{(n-2)!} P_n^{(n-1)}(0)} \chi_3(D(P_n))$$

and

$$\sum \varepsilon^{h_1^2+h_2^2} \chi_3^2(h_1-h_2)$$

$$\chi_1((-1)^n P(0)) \in a_1^2 - a_2 \chi_3(D(P_n))$$

can prove formula for this also for  $n = 8$ ,  
but not further at present.

History.

M. L. Mehta: Random Matrices &  
Statistical Theory of energy levels

Acad Press N.Y. 1967

also papers by Dyson & Dyson - Mehta.

S. Karlin & L. S. Shapley. Geometry  
of Moment Spaces. Mem. Am. Math. Soc 12  
Proc. R 1953

S. S. Wilks Math. Statistics Wiley N.Y. 1962

2  
quense fall.

$$(4) \int_0^\infty \dots \int_0^\infty (t_1 \dots t_n)^{x-1} e^{-t_1 - \dots - t_n} |\Delta(t)|^{2z} dt_1 \dots dt_n$$

$$= \prod_{\nu=1}^n \frac{\Gamma(1+\nu z)}{\Gamma(1+z)} \Gamma(x + (\nu-1)z)$$

$$(5) \int_{-\infty}^\infty \dots \int_{-\infty}^\infty e^{-\frac{1}{2}(t_1^2 + \dots + t_n^2)} |\Delta(t)|^{2z} dt_1 \dots dt_n$$

$$= (2\pi)^{\frac{n}{2}} \prod_{\nu=1}^n \frac{\Gamma(1+\nu z)}{\Gamma(1+z)}$$

also f-els  $\mu$  real:

$$(6) \int_{-\infty}^\infty \dots \int_{-\infty}^\infty \frac{|\Delta(t)|^{2z} e^{i\mu(t_1 + t_2 + \dots + t_n)}}{((\omega + it_1) \dots (\omega + it_n))^x} dt_1 \dots dt_n$$

Arbeide fra 1940 dreie-  
approximationsproblemet.

Skissere bevis av (1).

anta  $z =$  helt tall  $m \geq 0$

$$|\Delta(t)|^{2m} = \sum c_{\alpha_1 \dots \alpha_n} t_1^{\alpha_1} \dots t_n^{\alpha_n}$$

anta  $\alpha_1 \geq \alpha_2 \geq \dots \geq \alpha_n$

blant at  $\alpha_u \geq (u-1)m$ ; og like

$$\alpha_v \geq (v-1)m$$

$$\text{og p\aa} \left( \Delta(t) \right)^{2m} = (t_1 \dots t_n)^{2(m-1)m} \left| \Delta\left(\frac{1}{t}\right) \right|^{2m}$$

$$\text{Innv\aa} \quad \alpha_v \leq 2(m-1)m - (u-v)m = \\ (2m+v-2)m$$

$$(v-1)m \leq \alpha_v \leq (2m+v-2)m$$

Rules formel.

$$\frac{P(x+\alpha_v) P(y)}{P(x+y+\alpha_v)} = \prod \frac{P(x+(v-1)m) P(y)}{P(x+y+(u+v-2)m)} \cdot P_1(x,y)$$

$$P_1 \text{ grad i } y = \prod \frac{P(x+(v-1)m) P(y+(v-1)m)}{P(x+y+(u+v-2)m)} \cdot \frac{P_1(x,y)}{(y+1) \dots (y+(v-1)m)}$$

Wist same for x

$$\frac{P_1(x,y)}{\dots} = \frac{P_1(y,x)}{\dots}$$

kan slutte at integralet er

$$C_m(m) \prod \frac{P(x+(v-1)m) P(y+(v-1)m)}{P(x+y+(u+v-2)m)}$$

sett  $x=y=1$

$$\int_0^1 \int_0^1 \left( \Delta(t) \right)^{2m} dt_1 \dots dt_n = \int_0^1 dt_n \int_0^{t_n} \dots \int_0^{t_{n-1}} \left( \Delta(t) \right)^{2m} (t_n - t_1) \dots dt$$

sett  $t_j = t_n t_j'$  for  $1 \leq j \leq n-1$

får rekursivt bestemt  $C_n(m)$  og da

$$\int_0^1 \dots \int_0^1 |K_n(t)|^{2m} dt_1 \dots dt_n = \frac{1}{1+}$$

$$C_n(m) = 1 \text{ over reelle tal}$$

$$C_n(m) = \prod_{s=1}^n \frac{P(1+s)}{P(1+s)}$$

vis for heltallig  $z$ . Sammenligner funktioner  
for  $z \geq 0$  begge begrænset i halvplan, og diff  $= 0$   
for  $z = 1, 2, 3, \dots$ ; derfor kan det være identisk  
lige 0.

for  $R(z) > a_0$  kan

$$f(z) = \frac{1}{2\pi i} \int \frac{f(\xi) \cancel{(z-1)} \cdot (z-a)}{(z-\xi) \cancel{(z-1)} \cdot (z-a)} d\xi$$

endelig kan slutte holder til nærmeste singularitet  
i  $z$ .



Bemærkninger om komplekse integraler  
kombinatoriske problemer (for  $n$  pro heltall),

Analoge karaktersummer.



analog over  $P$  funktion

$$\tau_x = \sum_{h(\text{mod } p)} \chi(h) \varepsilon^h$$

$$\text{for } \sum_{h_1, h_2} \chi_1(h_1, h_2) \chi_2((1-h_1)(1-h_2)) \chi_3^2(h_1-h_2)$$

$\psi$  er kvadratisk karakter.

$$= \frac{\overline{\chi_3^2}}{\overline{\chi_3}} \cdot \frac{\overline{\chi_1} \overline{\chi_1 \chi_3} \overline{\chi_2} \overline{\chi_2 \chi_3}}{\overline{\chi_1 \chi_2 \chi_3} \overline{\chi_1 \chi_2 \chi_3^2}} \quad (*)$$

$$+ \frac{\overline{\chi_3^2}}{\overline{\chi_3 \psi}} \frac{\overline{\chi_1} \overline{\chi_1 \chi_3 \psi} \overline{\chi_2} \overline{\chi_2 \chi_3 \psi}}{\overline{\chi_1 \chi_2 \chi_3 \psi} \overline{\chi_1 \chi_2 \chi_3^2}} \quad (**)$$

entlign

lignende formel for

$$\sum \chi_1(h_1, h_2) \sum^{\psi(h_1+h_2)} \chi_3^2(h_1-h_2)$$

$$\text{og } \sum_{h_1, h_2} \sum^{\psi(h_1^2+h_2^2)} \chi_3^2(h_1-h_2)$$

mere perfekt analogi om man  
summer for alle 2 grads polynommer  $x^2+ax+b$  med  $p$   
sitter  $\alpha, \beta$

$$\sum \chi_1(\alpha\beta) \chi_2((1-\alpha)(1-\beta)) \chi_3^2(\alpha-\beta)$$

find = (\*).



ledet til at turkativt anta at rette  
 generalisasjon er  $P_m(x) = x^2 + a_1 x + a_2 x^{m-2} + \dots + a_m$

$$D_m = \prod_{i < j} (\alpha_i - \alpha_j)^2$$

$$\sum \chi_1(a_m) \chi$$

$$\sum \chi_1(P_m(0)) \chi_2(P_m(1)) \chi_3(D_m)$$

$$(P_m(x) \rightarrow (-1)^m P_m(1-x))$$

$$\sum \chi_1((-1)^m P_m(0)) \chi_2(P_m(1)) \chi_3 \psi(D_m)$$

$$= \prod_{\gamma > 1}^{m-1} \frac{\zeta_{\chi_3}^{\gamma}}{\zeta_{\chi_3}} \frac{\zeta_{\chi_1 \chi_3}^{\gamma-1} \zeta_{\chi_2 \chi_3}^{\gamma-1}}{\zeta_{\chi_1 \chi_2 \chi_3}^{m+\gamma-2}}$$

$$(\chi_1 \chi_2 \chi_3^{m+\gamma-2} \neq \chi_0)$$

tilsv. for  
 andre <sup>enklere</sup> summer

Ronald Evans, 1980 San Diego,

likt fredag nach, kom per til samme  
 formodning og request ut for  $m=3$  og  $4$   
 og annen små pikenfall, Steute

Bevis med breve helt nye ideer. Begge de  
 andre fall krever nach. kan ikke gjøre grunne-  
overgang.